*%%rﬂ == poaln =
Q Q
S \:7\-—’4<:/ Z] 150° A4
2320
52 1103 10 1103 52
BEEAZLORE 6mm FEE A NOBE 6mm
; @
B £53
H ® EJ)\D%B
@:
=K | 2| g
olf a s
\
T'° \\ \\ I'I \\ o-T
" "W o g A
(@) O
= | b & T pidLL
(@)
«©

0350

ol

B 1720

ZEE0E
) AROAZIESETRTT,

() BRHREIFROLY. FELEETHILAHVET,

BRER: VY-l BRFREBVET,
y)y&-5 (ENOy 78) LAY Y - X% CBALEE O,
Ry 7€y t64mm. BEES0mm)
BEOFAE. BRI -y VY I-#ZBASEITO,

NEZFAR (1/10)

b

—
ITTE ]

i |

W), | 1) -
\—

©)
CcC=—

(BB (17 8)

& & | s%ESH<LIRFE BERHT )
54 7 | vyUyy-3tARLA
& % |H1000

B 2520 (B

KFTHO52 72 |

Rl

O&FBR (1/8)

ra'

g §;///(Z>
@

B% LR ES B % (mm) i g i
1 AAE 050x50xt3.2 STKR400 HEREEE (THEHD- )
2 Ali%ey T t1.6 SGH BERKREE (ThEH®- %)
3 FEfR (RAD 50x 120 AB063S BRELCEARE
4 PR GEAD 50x 120 AB0B3S BERECEORE
5 FEMR (24D 50x 120 AB063S BRELEORE
6 Mg i 25x 60 AB063S BEBCEARE
7 H< LER t3.0 7 IRERBRAR -
8 K- F - I+~ -
9 fewn - t2 A1100P 2%
10 Rivy 7 ¢ 16/ F40Y -
11 vy §-3t LAVY) =X - %Moy 78
12 SEMTL - b t2 A7V LA -
13 SERMTL -+ t2 ATV LA -
14 PPEY t6 SPHC HERRZE (THERD- X
15 kyy t6 SPHC BERKEE (ThEH®-> )
16 by IiE $12 SGD BB &
17 gy 4x 20 A7V LA -
18 Eg 12 EEl -
19 RUESE 12.3. t3.2 SGH HERRZE (THERD- X
20 iR t2 AFY LA -
21 FUBRIL S - t1.5 ATV LA -
22 L $12 A7V LA -
23 Py t1.5 A6063S. EPDM -
24 B R b M10x 75 4.618% BRI &
25 4 IhxY M5x 10 AFY LA -
26 " M4x 10 ATV LA -
27 FIANRY M5x 10 A7V LA -
28 " M4x 10 ATV VA -
29 SYNLT 316 PVC -
30 F7A by - H52 VIS4 NHAG -
31 & b M8x 20 4.618% BHBHY - &
32 AER 3.2 SGH Bivo & +HERKEE
33 B AL b M8x 65 LN E ARlEzD - &
34 | mBHA- BEER t1.2 SGHC T o & +HENRREE
35| PEVixey T t1.0 PVC -




